= 0.2 ~ 0.2
g 5k g
7 0.15 B0 R R R AR Eh ARRRRLIERRE
S (5} C :
el r [ N N N
“\0/ 0.1 v Oz 1TE
0.05 0.05f -+ -weriersnesneehe L1
0 0:— ------------------------- |- R
-0.05 0] P N PN
-0.1 O I | TP EPPEPPFEPPREPPRTPPE B XF F Y PR CREPPREPPEPY
-0.15 O J 1| R T EP TP PET PERPPEPPREE N B Y PERP EPPEEPREPPN
9_02 9_02: L ||||||! Ll :: 1 ||||||! L
T 15 T -—-----------; -------- -0‘<>-Eq e Gl ---: o
: b Iﬁ##*#”
1 (1] SeRREEPEEPEET CEPRPPER +1- (EAREEEPERPES
05 o: : LT
107 1 107 1

2 3
TPlp()) (PCA t%obeamlinélf)

= R *{;"*;té‘“f%‘é}‘ééé”i SHos
—— BoMTast 01000 era B
DOM~—p ate step: ;?tltol 00_eta2p0to2p5

- — 100p . =
§ 4 g : :
N
& 20
el
Voo

-20F

10| EERUPRURTS EPPPLRPE 1 7 REPRCTPRPLR SUCPRLIPR

-1t CTEICIIPUR SERRLRRRY 11 STPPLRRPLE CORIPRRS

107 1

2 3
TPl[g)T (PCA f})obeamlinéf)

<opJp,> (%)

I I2 - 3
TPlFQT (PCA t%obeamlin%)o



	Contents
	Page 1


